B.Com. Semester vI (General) Examination, 2022 (CBCS)
Subject: Commerce
Paper: DSE-4
International Business (6.4.1 CG)

Time: 3 Hours Full Marks: 60

[The figures in the right-hand margin indicate full marks. Candidates are
required to give their answers in their own words as far as practicable.

TEpel MET RANST FEF T [qTF | TS0 IS Ao 8T $od e 2 1 ]

1 Answer any ten (10) of the following questions: 2x10=20

NET T @EIET 76 T Tod wras

(a) What do you mean by Factor Endowment Theory?
Factor Endowment Theory (@ I (J13?

(b) Define Regional Economic Integration?

el aafod IFFAEFT T2 w18 ?

(c) What are the merits of globalization?

BRIRCERIREINIE RIS Y

(d) What is outsourcing?
AMOHENHR FI?

(e) What is meant by the concept of absolute cost advantage of Adam Smith?
SIS S T TSI HTRA Fef0© T (FRT?

(f) Mention two objectives of IMF

IMF a5 9t ST SEY @&

(g) Define flexible exchange rate system.
TN ey 27 T5R3F T rs |

(h) What are the full forms of OECD and FAO?
OECD a3z FAO a7 & Ft 12

(i) What do you mean by gains from trade?
FfTES (N TS Ie00 F (FH?

() What do you mean by the balance of trade?
BT SIETRT T B (TRH?

(k) What is meant by export promotion?
T THIF FeT0© T (IRNT?

(I) Write two main assumptions of the Ricardian theory of international trade.

SNOP I HFITETTT ©ra T G efsiiel (<72

(m) What are the demerits of protective trade policy?



ASTFTYTS NSy Aox oS FT Fi?

(n) Distinguish between tariff and quota.

BN T2 (FIBIF W& NNFS F1

(o) What is meant by revaluation of a currency?

SUTH AT I8 P (JTATI?

Answer any four (4) of the following questions: 5x4=20

T @ @FAT G =T TaF WIa3s

(a) Explain “Comparative Advantage” with the support of an example.

SUTRAH STRIEY QIR SYRET" 5051 T |

(b) Describe the different forms of regional grouping.

el s ey F7 I FET|

(c) Write a short note on Exchange Rates.

fafera /g oo a6 559 BT (|

(d) Explain the different types of foreign investment.

Ao fafaames e o= I FET)

(e) Explain the role and performance of WTO.
WTO 97 ©fFT 8 FFTeT 1T FET|

(f) Discuss the various components of ‘Balance of Payment Account’.
‘Balance of Payment Account’ 95 fafed SamwTe fa@ SIETe= FET|

Answer any two (2) of the following questions: 10x2 = 20
TNEF (T @ 726 2077 Tad wiss

(a) Describe the benefits provided to the units set up in export processing zones.

A AFIFIT AP Tfe 2SVCSNF T7a STIHNSFT Fofey FEET|

(b) Discuss the role of the Indian joint ventures in International Business.
NSO F TN SIAF (N SR GNP SETCA] FET|

(c) Briefly explain the Heckscher-Ohlin theory of International Trade.
ARHGF AT Heckscher-Ohlin ©Sf6 ST I3 F&ET

(d) What is the role of IT in International Business of service sector in India?

BIA® AHEAT AT IARI6F TINI- ARG (IT) ST F1?
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B. Com. 6th Semester (General) Examination, 2022 (CBCS)
Subject: Fundamentals of Financial Management

Paper: DSE-4 (6.4.2 CG)
Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.

wfSpel SIS SRATSfET sJefoe frTas |
TAFRET IS [Ao9 oFF Tod fve ||

1. Answer any ten of the following questions: 2x10=20
TEF (F @I 716 JEF Tod 718:

a) Define financial management.
A I SR 7S |
b) What do you mean by preference shares?
(SHIES CTAR 00 @ F (IR ?
c) What is cost of capital?
d) Write down the formula used to calculate cost of redeemable preference share
capital.
STACTIEETSTS (THIES CTATR FeHE 5 Vel @ syafb (+Te|
e) How is financial leverage measured?

AT FroIES SIS ATNT FA1 27 ?

f) State the relation between business risk and operating leverage.

FRIA F 3 IHFF frerEs 97 F13(6 I
g) How would you compute the cost of a term loan?
Y fFeTE Gt At 57 7 9@ ?
h) What do you mean by combined leverage?
Y& [TONES F© F (FET ?
1) Define the term working capital.
IR REIGE R aRn&]
j)  What is public deposit?
Se-SAHTS F?
k) What do you mean by operating cycle? PT.O.
PR IS Feito F (JET 2
1) Write two limitations of NPV method.
NPV =&{&= 46 SEame! (e
m) What is profitability index?

AAHIESTST 6 Fi ?
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n) What is interim dividend?
IHS! TSI FF ?

0) Mention the name of two factors affecting dividend policy of a firm.

236 TG TSI NS L FIFIR 96 ST A1 JCET|

2. Answer any four of the following questions: 5x4=20
ET (T (I GG ST Tad wiss

a) State the compounding and discounting techniques of the time value of money. 5

SR TIF A (T 573 3 AT (FP 96 &g FET

b) State the role of lease in finance. 5
o1 A A SR ige FE7 |
c) Briefly discuss the importance of capital budgeting decisions. 5
REFCT IJTHA T 1@ 327 A6 FET |
d) Consider the following information for Omega Ltd. (Rs. in lac) 5
EBIT 15,750
EBT 7,000
Fixed operating cost 1,575

Calculate (i) Degree of Operating Leverage and (ii) Degree of Financial Leverage.

ENGINEERTEEY!
Source of Capital Proportions Pre-tax Costs (%)
Equity Share Capital 0.25 15
Preference Share Capital 0.35 12
Debenture 0.25 10
Long-term loan 0.15 9

a) From the following information of ABC Ltd. calculate its weighted average cost of

capital. Corporate tax rate is 40%. 5

foETa ©25 (3@ ABC Ltd. 7 [ANH SEYS 516 57 ol F@E1 FCAEE O (76
T 40% | (RS 2 T8y)

b) A project of Rs. 20 lakh is supposed to yield Rs. 30,000 after depreciation @12.5%
and 1s subject to income tax @40%. Cakculate the payback period of the project. 5
ENGINEEREEY!
3. Answer any two of the following questions: 10x2=20

ClCEICNGa (CI 0 G EE REIE R RE

P.T.0.
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a) What do you mean by a chief financial officer? Explain the role of a finance officer
in an organisation.
AFG 27 1 ANEAFNEF Fe00 I (AR ? (F1H TGO 976 o AEFIHE
Sf T I FET |

b) Briefly discuss the various sources of short-term capital.

JICITAT [T IET TSTHT TREFCT AT FET

2+8

10

c) A project requires an initial investment of Rs. 20,000. The life of the project is 5

years. The required rate of return and income tax rate are 10% and 50%

respectively. The profits before depreciation and taxes generated from the project at

the end of 1%, 2, 3" 4™ and 5" years are Rs. 12,000, Rs. 6,000, Rs.4,000, Rs.

10,000 and Rs. 10,000 respectively. The method of depreciation is straight line.

You are required to ascertain: (1) Average rate of return and (ii) Net present value

of the project. 10
Year 1 2 3 4 5
Discounting 0.909 0.826 0.751 0.683 0.621
factor @10%
EGINEERESY)

d) Using the following information, prepare a statement showing the working capital

requried to finance a level of activity of 10,400 units per annum:

(1)  Selling price @ Rs.5 per unit.

(1) The expected ratios of cost to selling price are:

a)
b)
c)
d)

Raw material

Direct wages

Overheads
Profit

40%
10%
30%
20%

10

(i11)) Raw materials are expected to remain in store for an average period of 2

months before being used for production and materials are in process on

an average period of 6 weeks.

(iv) Finished goods will stay in store approximately for 6 weeks

before despatch to customers.

(v) Credit allowed to debtors is for a period of 2 months.

(vi) Credit allowed by creditors is for a period of 2 months.

P.T.O.

(vii) Lag in payment of wages and overheads is for aperiod of 2 weeks.
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(viii) Cash in hand and bank is expected to be Rs.10,000. It may be noted that
production is carried on evenly during the year and wages and overheads

accure similarly. Assume 4 weeks a month.

ENGINEEREEY!




